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Not a ditch and not a cave - YR K9 R RY

Overview
The 71wn mentions various different excavations that are required to be distanced
from a 72. Our Moo discusses why some are mentioned while others are omitted.

=992 9712 DY NPV NIV 999 [=)IPda] Y9347 992 2N V173 230 PY) X990 P71 NIy
And the same rule applies to 7°x°¥n 'Px’ﬂn,l and the 71w» mentions (only) these,
Ty 1w (but not XYM 1x°M),2 on account of =13, for the Xin is accustomed

everywhere to mention 719y2y mw together with =12 -
- 175791 999987 *XI1)a Y9N 913 23) INNIYY 999 PRT 102990 N59323 DN NNIN)

And regarding @7 n»X and 02277 n>92i, which are not usually taught
together with 113, the X923 explains that it was necessary to write them both.

mooIn responds to the anticipated question:
- %9131 175 1299Y 71N RY INNN WA KY XD 17510)

However the X713 does not explain why we could not have derived 27 nnX

7"021277 127211 from M35 the reason may be self-explanatory -
= YLV NPNIN YA 23V PPINYT NIYI T 91991Y S84

For we could have explained that 7wy 912, which are deeper, (than 27 nnX

"21) requires a distancing of three oonov -
= AYHY NPNIN SYa NDT NN NN IR 01D PNy NDT 79N YaN

However these (121 o»n71 nnX) which are not that deep, we may have thought

that they do not require distancing three o°1ov -
- 51 NPNIN Y2 290 PrNIYT NYYI 9T RININR NIN 2N NI ON)

And if the Xin would teach that these 17021277 N27211 @17 NAX, require distancing '
o°1ov but not mention 121 73, we would have thought that mwy =92 which are

deeper than 121 2°27 NnX, require distancing more than three o°nov. The X %3 may
have felt that this distinction is obvious.

''See 1xmm "7 2,1 P2 *"wn who writes;  70nY PIXP LPPROPI SMIND PO 3 KIX PP PRI I8N PV 1AM RN
movnon 1A, The 10 are square uncovered ditches; 1¥°v1 are ditches narrow on the bottom and wide on the top.

? We understand on our own that the same rules apply to TX°¥31 7¥*7 as apply to 7wm) W 2.

3 The X3 on X, explains that if the 73w» would have written only one of them (either 1021977 N31231 or D77 NAX) we
would not be able to derive the other from it. Each one has a 7111, by 0°»i1 nnR it is 7¥°2p (permanent) and by n>721
17021217 it "1 1P (it is standing in its place) w"»y. See ‘Thinking it over’.

* The 7awn did not write P¥'¥) 1% because it is evident that they can be derived from 3, similarly we should be
able to derive 1°021277 N27211 0°»i1 NMX also from 712, why mention it separately.

3 Therefore it was necessary to teach 712 (and 77¥m W) as well as 1021277 N3721 @717 NAX.
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mooIn anticipates a difficulty:
= N92)2 199195 11D 7998129 TP NOYWI 912 99INN TN 1INT (3,3 97 xnp x32) NN PI9IY

And in 71277 P95 where the 71w teaches that one is liable whether he dug a 913, a
mw, or a 1Yn, and the X3 there explains why it was necessary for the mwn to

teach all three cases; why was it necessary to explain it there but not here® -

mooin replies:
- 72%‘,7: 993 251159 119 993 2XN NPV PINNIY RIND N NN XYY XN 0NN

There it is understood, for the Xin should not have mentioned 772 ¥ on

account of 713, since only =12 is written in the 105 -
$INY 912 2015 1YY 7N NON

The Xin should have rather taught only 912, therefore the x 3 found it necessary to
make the Xm1>™x.

Summary
We can derive 1X°y11 1% from 712, but not 1°021277 12721 217 DAR; it is usual to

write 77vm 1Y together with 712 (even without a XM1371X); however when the 109
writes M2 exclusively, the m1wn (when referencing this ?109) needs a reason why to
mention 7Y MW,

Thinking it over
When n19010 makes the XM>°7¥ for 1°02107 N2721 o7 DX and M2 he uses one

X720, the depth; and explains if it would say the shallower we would think the
deeper needs more than three and if it would say the deeper we would think the
shallower needs less than ‘[hree,8 However when the X7 n1 makes the Xn1>°1X
between 07 nnX and 702197 NO021 the XX uses two MI20 (™ MY L 80ap),”
where seemingly it could have used one of them and make the Xn113°7X in the same
manner of more than three or less than three. Why the difference?!'”

% In fact MmpoIn stated previously that there is no need to explain why he mentions all three because this is the norm
to write all three of them together, so why does the X713 in "2 find it necessary to make a Xm3°x?!

" However here where the ;73w is not referencing any 109, it is usual to mention 77w»1 W together with 2.

¥ See footnote # 5.

? See footnote # 3.

' See X" 0" n.
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